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• 
What Did the Spanish Farmer 
Say to His Chicken? 
Simplify each expression below. Find your answer at the bottom of the page. 
Cross out the letter above it. When you finish, the answer to the title question 
will remain. 
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3(4x + 6) + 7x 

7(2 + 3x) + 8 

9 + 5(4x + 4) 

12 + 3(8 + x) 

(7x + 2)3 + 8x 

6(4x + 7) + x 

3x + (2x ± 6)5 

4 + 6(7x + 7) 

8 + 5(9 + 4x) 

© 6m + 3(2m + 5) + 7 

0 5(m + 9) + 4 + 8m 

0 3m + 2(5 + m) + 5m 

@ 6m + 14 + 3(3m + 7) 

0 4(2m + 6) + 3(3 + 5m) 

0 5(8 + m) + 2(7 + 7m) 

• (2m + 1)9 + 5(5m + 3) 

0 7(7 + 5m) + (m + 6)4 

2(9m + 5) + 8(6m + 1) 
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What Happened To The Owl Who Swallowed 
A Watch? 
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TO ANSWER THIS QUESTION: 

Simplify each expression below. Draw a staight line connecting 
each expression with its simplified form. Each line will cross a 
number and a letter. The number tells you where to put the 
letter in the row of boxes at the bottom of the page. 
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-5x - (7x + 2) 	 ■ 	 ■ -6x + 3  
4 - (9x - 3) 	 ■ 	® 	 0 	■ -x - 5 
-8x - ( -2x + 4) 	■ 	© 	® 	 ■ 6x - 3 

■ -2x - 2 
- (5 + 6x) + 8 	 II 
-4( -9 + x) + 5x 	■ 	CD 	® 	© 6-,) 

	

.--./ 	
■ -12x - 2 

6x - (3x -- 7) + 1 	■• 	T 	0 © 	■ 8x + 6 
-9 + (2 - x) + 8x 	• 	 0 	0 ■ 4x - 12 I 
(2x - 6) - ( -9x - 1) 	■ 	0 	 0 	■ -9x + 7` 
- (5x + 8) + 3 + 4x 	■ 	CD 	 ■ x + 36 so 0 	© 
7x - ( -6 - 2x) - x 	■ 	 ■ 7x - 7 

- 9 + x + 3 (-8 + 5x) 	■
q.) 
,:..., ® 	0 0 	0 • 8x - 1 

-(6x - 6) + (4x - 8) 	■ 	 ® 	■ -6x - 4 
(3x + 1) - ( -3x - 7) - 9x ■ 	CD @ 	© 	® ■ 16x - 33 
- 5 + (4 - 2x) - 8x + 5 ■ 	 ® 	© 	■ -1 ox + 4 
- (-8x - 4) + x - 7 - 3x ■ 	 CD ,;,-\, 	® 

	■ 3x + 8 
(4 - 6x) - ( -4x + 5) - 6x ■ 	 L..) • -4x + 5 
9x + 9 + 2x - 7(3 + x) ■ 	 0 	

0 	■ 11x - 5 
-1 - (-3x + 2) - 7x + 8 ■ 	 ■ -3x + 8 

• 	• ..... • .....o.n 
. • 	• 	. 

• .... • 
• • 
..... • . ...... n C10•00112110•1•11..000001131, 	  

• •• • v . • 	•v v • 	• v o• 	• .... 
v . 	 • . u 0 . be . -4 0 	• . -6 4- 	be .'"6 ....• 	.9..0 	••• 	.• ..... -  	0 ..... . 000...C•1[11 00.001130“ 	 0000.11.... 

O. 	 ... 	 "1.. 0- . 	be 	'.. ••••••• 
GM/ 	• 0 	   	n 

10 11 12 13 14 15 16 17 18 • 
DD-18 


	Page 1
	Page 2

